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Linux Part 1

These are the most accurate study questions. Just focus on these and sit in your exam.
I am really pleased to go through all content of the site, all learning material is updated and up to the mark.

Nicely written Questions with many corrections inside.
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Exam A

QUESTION 1
While editing a file in vi, an administrator realizes that the wrong file is being changed. Which of the following vi command sequences will allow the administrator to
quit without saving any changes?

A. :Q!
B. :q!
C. :w!
D. :wq!

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 2
To allow a regular user account to mount and unmount a filesystem (for instance, a cdrom or floppy), which of the following options will need to be added to the
corresponding line in /etc/fstab?

A. nouidchk
B. alluser
C. user
D. auto

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 3
Which of the following commands will print a list of usernames (first column) and their corresponding user id (uid, third column) from /etc/passwd?

A. cut -d: -f1,3 /etc/passwd
B. chop -c 1,3 /etc/passwd
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C. tac 1-3 /etc/passwd
D. fmt -u /etc/passwd

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
important answer

QUESTION 4
Which of the following would be accomplished if the below line is run as root? chown -R bert /home/bert/*

A. Nothing, this command is invalid.
B. It would revoke bert's ownership from the home directory to root.
C. It would change user ownership of all files in /home/bert to bert.
D. It would set the group ownership of the directory /home/bert to bert.
E. It would set ownership of all files and subdirectories in /home/bert to bert.

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 5
In GRUB's configuration file an administrator finds the following line: root (hd1,4) Which of the following is the corresponding device name on a Linux system?
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A. /dev/hda4
B. /dev/hda5
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C. /dev/hdb4
D. /dev/hdb5

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 6
An administrator wants to preview where the package file, apache-xml.i386.rpm, will install its files before installing it. Which of the following commands should the
administrator issue?

A. rpm -qp apache-xml.i386.rpm
B. rpm -qv apache-xml.i386.rpm
C. rpm -ql apache-xml.i386.rpm
D. rpm -qpl apache-xml.i386.rpm

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 7
In order to append the output of ls to a file called bazz, which of the following command lines would an administrator use?

A. ls > bazz
B. ls >& bazz
C. ls &> bazz
D. ls >> bazz

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 8
After modifying LILO's configuration file, which of the following commands should be run for the changes to take effect?

A. kill -HUP `pidof lilo`
B. lilo-install
C. lilo
D. reboot

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 9
Which of the following sed commands will replace all instances of the string foo with the string foobar changing the file file1.txt in place?

A. sed 's/foo/foobar/g' file1.txt
B. sed 's/foo/foobar/g' file1.txt > file1.txt
C. sed 's/foo/foobar/g' file1.txt | file1.txt
D. sed -i 's/foo/foobar/g' file1.txt
E. sed -i 's/foo/foobar/g' file1.txt > file1.txt

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 10
Which of the following keys should an administrator press to switch to normal mode in vi?

A. Alt
B. Esc
C. Ctrl
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D. Shift

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 11
Which of the following commands will print line numbers before each line in a file?

A. ln
B. nl
C. cat -e
D. numline

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 12
An administrator wishes to kill a process with a PID of 123. Which of the following commands will allow the process to "clean up" before exiting?

A. kill -1 123
B. kill -9 123
C. kill -15 123
D. kill -17 123

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 13
Which of the following is the purpose of the Bash built-in export command?

A. To allow disks to be mounted remotely.
B. To run a command as a process in a sub-shell.
C. To make the command history available to sub-shells.
D. To setup environment variables for applications.
E. To share NFS partitions for use by other systems on the network.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 14
An administrator is having some trouble with a disk partition and needs to do maintenance on this partition. The administrator's users home directories are on it and
several are logged in. Which of the following commands would disconnect the users and allow the administrator to safely execute maintenance tasks?

A. telinit 1
B. shutdown -r now
C. killall -9 inetd
D. /bin/netstop --maint
E. /etc/rc.d/init.d/network stop

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
updated answer

QUESTION 15
Bob accidentally created the subdirectory \bobsdir in his home directory. He tried to remove the subdirectory with the command rmdir \bobsfile only to receive the
error, "No such file or directory." . Which of the following commands will remove the directory?

A. rmdir '~bob/\bobsdir'
B. rmdir "~bob/\bobsdir"
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C. rmdir ~bob/'bobsdir'
D. rmdir ~bob/\bobsdir
E. rmdir ~bob/\\bobsdir

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 16
Which of the following commands will print the inode usage on each mounted filesystem?

A. du -i
B. df -i
C. lsfs -i
D. printfs -i

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 17
Which of the following commands will uninstall a package but leave its configuration files in case a package is re-installed?

A. None, no command will do this.
B. dpkg -s pkgname
C. dpkg -L pkgname
D. dpkg -P pkgname
E. dpkg -r pkgname

Correct Answer: E
Section: (none)
Explanation
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Explanation/Reference:
perfect answer

QUESTION 18
How does an administrator get a list of files that have been installed from a dpkg package?

A. dpkg -l pkgname
B. dpkg -C pkgname
C. dpkg -s pkgname
D. dpkg -S pkgname
E. dpkg -L pkgname

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 19
Which of the following command line redirection characters instructs the shell to read from the current input source until a specific word, on a separate line and
without and trailing spaces, is reached?

A. <<
B. <|
C. !<
D. &<<

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 20
In bash, inserting 1>&2 after a command redirects:
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A. standard error to standard input.
B. standard input to standard error.
C. standard output to standard error.
D. standard error to standard output.
E. standard output to standard input.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 21
In compliance with the FHS, in which of the following places are man pages typically found?

A. /usr/share/man
B. /opt/man
C. /usr/doc/
D. /var/pkg/man
E. /usr/local/man

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 22
Select the line that BEST represents what permissions the /etc/passwd file should have.

A. -rw------- 1 root root 531 Jun 5 22:45 /etc/passwd
B. -rw-r--r-- 1 root root 531 Jun 5 22:45 /etc/passwd
C. -rw-r--r-- 1 1 1 531 Jun 5 22:45 /etc/passwd
D. All answers listed are not correct.
E. All answers listed are correct.
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 23
What command with all options and/or parameters will send the signal USR1 to any executing process of program apache2?

Correct Answer: Answer: killall -s SIGUSR1 apache2, killall -s USR1 apache2,killall -SIGUSR1 apache2,killall -USR1 apache2
Section: (none)
Explanation

Explanation/Reference:

QUESTION 24
The system configuration file named _______ is commonly used to set the default runlevel. (Please provide the fill name with full path information).

Correct Answer: Answer: /etc/inittab
Section: (none)
Explanation

Explanation/Reference:
correct answer

QUESTION 25
In which directory must definition files be placed to add additional repositories to yum?

Correct Answer: Answer: /etc/yum.repos.d,/etc/yum.repos.d/,yum.repos.d,yum.repos.d/
Section: (none)
Explanation

Explanation/Reference:

QUESTION 26
The dpkg-____ command will ask configuration questions for a specified package, just as if the package were being installed for the first time.

Correct Answer: Answer: reconfigure
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 27
Which command is used to enable disk quotas on a particular filesystem? (Provide only the command, with no options or parameters)

Correct Answer: Answer: /sbin/quotaon,quotaon
Section: (none)
Explanation

Explanation/Reference:

QUESTION 28
An administrator has downloaded an image file of a boot floppy disk to a hard drive. What is the BEST utility to create a boot floppy from the disk image? (Specify a
single command without options.)

Correct Answer: Answer: /bin/dd,dd
Section: (none)
Explanation

Explanation/Reference:

QUESTION 29
The /etc/_______ file lists currently mounted devices.

Correct Answer: Answer: mtab
Section: (none)
Explanation

Explanation/Reference:

QUESTION 30
To prevent users from being able to fill up the / partition, the ____________ directory should be on a separate partition if possible because it is world writeable.

Correct Answer: Answer: /tmp,tmp
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 31
The priority of any process can range from -20 to ________. (Provide only the numerical value).

Correct Answer: Answer: +19,19
Section: (none)
Explanation

Explanation/Reference:

QUESTION 32
_________ /dev/sda3 will create a swap area on the device /dev/sda3.

Correct Answer: Answer: /sbin/mkswap,mkswap
Section: (none)
Explanation

Explanation/Reference:

QUESTION 33
What option, when passed to the yum command, will update the entire system? (Specify ONLY the option name with no additional parameters).

Correct Answer: Answer: update
Section: (none)
Explanation

Explanation/Reference:

QUESTION 34
What command will print the shared libraries for the file /usr/lib/libpng12.so? (Provide the full command with library name but without any other options or
parameters).

Correct Answer: Answer: /usr/bin/ldd/usr/lib/libpng12.so,ldd/usr/lib/libpng12.so
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 35
What umask value will result in the default access permissions of 600 (rw-------) for files and 700 (rwx------) for directories? (Provide only the numerical umask
value).

Correct Answer: Answer: 0077,077
Section: (none)
Explanation

Explanation/Reference:

QUESTION 36
An administrator is formatting a single hard disk for a Linux install. What is the maximum number of primary partitions that can be created?

Correct Answer: Answer: 4,four
Section: (none)
Explanation

Explanation/Reference:

QUESTION 37
Which program finds only files that are in an administrator's PATH?

Correct Answer: Answer: /usr/bin/which,which
Section: (none)
Explanation

Explanation/Reference:
valid answer

QUESTION 38
Which command will disable paging and swapping on a device? (Provide only the command with no additional options or parameters).

Correct Answer: Answer: /sbin/swapoff,swapoff
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 39
An administrator suspects that a new Ethernet card might be conflicting with another device. Which file should the administrator check within the /proc tree to learn
which IRQs are being used by which kernel drivers? (Please enter only a single command and do not enter duplicate answers in this field.)

Correct Answer: Answer: /proc/interrupts,interrupts
Section: (none)
Explanation

Explanation/Reference:

QUESTION 40
To change the priority of a running process, an administrator should use the ____ command.  (Specify command only with no options.)

Correct Answer: Answer: /usr/bin/renice,renice
Section: (none)
Explanation

Explanation/Reference:

QUESTION 41
An administrator has downloaded an image file of a boot floppy disk to a hard drive. What is the BEST utility to create a boot floppy from the disk image? (Specify a
single command without options.)

Correct Answer: Answer: /bin/dd,dd
Section: (none)
Explanation

Explanation/Reference:

QUESTION 42
In the vi editor, what vi command will copy (but not paste) from the current line at the cursor and the following 16 lines (17 lines total)?  Enter the correct vi
command without spaces. (Please enter only a single answer.)
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Correct Answer: Answer: 17y,17y,17yy,17yy
Section: (none)
Explanation

Explanation/Reference:

QUESTION 43
What command with all options and/or parameters will send the signal USR1 to any executing process of program apache2?

Correct Answer: Answer: killall -s SIGUSR1 apache2, killall -s USR1 apache2,killall -SIGUSR1 apache2,killall -USR1 apache2
Section: (none)
Explanation

Explanation/Reference:

QUESTION 44
Exhibit

What operating system tools can be used to collect capacity planning data? (Choose two.)



http://www.gratisexam.com/

A. lsmod
B. vmstat
C. iostat
D. fuser

Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 45
In order for pam_ldap to be capable of changing a user's password in Active Directory, the pam_password parameter must be set to

A. win
B. ldap
C. ad
D. active_directory

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
modified answer

QUESTION 46
OpenLDAP is capable of using the __________ framework to provide integrity and confidentiality protections.

A. TLS,SASL,SSL
B. There is no such thing.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 47
In capacity planning exercise, what tools assist in identifying processes of interest from other processes? (Choose two.)

A. w
B. pstree
C. acpid
D. lsof

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 48
What type of object class is sambaSamAccount?

A. auxiliary
B. structural
C. extended
D. abstract

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 49
Which of the following resources would be measured for capacity planning? (Choose two.)

A. CPU Usage
B. Disk Usage
C. Application load time
D. Memory usage
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Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 50
After finishing configuration of a UNIX client to authenticate with a Microsoft Active Directory server, login attempts are unsuccessful. Which of the following is most
likely the cause?

A. The slapd daemon is not running
B. The user account in Active Director has the remote login setting disabled
C. The PAM library is searching the directory with the default search filter
D. Unix Client support is disabled in the Active Directory Configuration

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 51
Which of the following procedures will test the TLS configuration of your LDAP server?

A. Verify the TLS negotiation process in the /var/log/ldap_auth.log file
B. Run the ldapsearch command with the -ZZ option, while watching network traffic with a packet analyzer
C. Run the slapcat command, while watching network traffic with a packet analyzer
D. Verify the TLS negotiation process in the /var/log/auth.log file
E. Run the ldapsearch command with the -x option, while watching network traffic with a packet analyzer

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 52
Which attributes must be present when assigning the object class sambasamaccounts to a particular user? (Choose two.)

A. sambaLMPassword
B. sambasid
C. SambaNTPassword
D. uid
E. displayname

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 53
What operating system tools can be used to collect capacity planning data? (Choose two.)

A. netstat
B. tar
C. sar
D. route

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 54
Which of the following resources would be measured for capacity planning? (Choose two.)

A. Video driver performance
B. System boot time
C. Network I/O
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D. Disk I/O

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:
accurate answers

QUESTION 55
Which of the following correctly describes the method to add samba users to the LDAP directory?

A. Create an LDIF file containing all required information, then use ldapmodd to add the samba related information to an existing posixaccount entry
B. Use the smbpasswd -a command to add the samba user from the command line. This will add all required information to the LDAP directory
C. First make sure that a POSIXAccount entry exists in the Directory for the user you want to add, then use smbpasswd -a to add the samba user from the

command line
D. Create an LDIF file containing all required information, then use ldapadd to add the information to the LDAP directory

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 56
Which ONE of the following parameters is used in the database on a slave server to direct clients that want to make changes to the LDAP database to the master
server?

A. updateuri
B. updateserver
C. updateref
D. updated

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 57
Which are common procedures to implement samba with LDAP? (Choose two.)

A. Compile OpneLDAP with support to samba authentication
B. Include OpenLDAP core schema files into samba configuration directory
C. Configure Samba password backend to point to OpenLDAP server
D. Include the samba schema into OpenLDAP

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 58
Which of the following ACL lines allows access to all hosts that have an IP Address that starts with 192.168.1?

A. by ipaddress=192.168.1.
B. by peername=192.168.1.*
C. by peername=192.168.1
D. by ipaddress=192.168.1.*

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 59
When performing a capacity planning exercise, when would taking measurements be most appropriate?

A. During successful operation
B. After an overload or an episode
C. During an overload or an episode
D. After replacing problematic hardware
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Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 60
In order to migrate usernames and passwords from a NIS server, the passwd and shadow files were used with a custom script to import the data to OpenLDAP.
After properly creating a test workstation to authenticate against LDAP, the number of lines outputted from getent passwd are different from the number of the NIS
client workstation. Which one of the following statements can be true?

A. The OpenLDAP client is querying the NIS server on the wrong TCP/IP port
B. The NIS database is not synchronized with passwd and shadow
C. The NIS clients are not receiving the correct files from the server
D. The OpenLDAP server creates some additional users that are show in getent
E. The NIS clients are confused since OpenLDAP and NIS use the same port to communicate

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 61
In the following output, what resource is the program being observed using the most?

A. Memory
B. Disk I/O
C. Network I/O
D. CPU

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 62
When configuring LDAP to use certificates, which option should be used with the TLSVerifyClient directive to ask the client for a valid certificate in order to proceed
normally?

A. Allow
B. Try
C. Never
D. Demand
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Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 63
Exhibit * Missing *
In the following output, what resource is the program being observed using the most?

A. CPU
B. Network I/O
C. Disk I/O
D. Memory

Correct Answer: C
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 64
On a Postfix mail server, the command postconf -m is run to determine if OpenLDAP is supported. Which storage medium would indicate support for OpenLDAP?

A. x500
B. openldap
C. ldap
D. dbm
E. ldaptable

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 65
In capacity planning exercises, what tools assist in identifying processes of interest from other processes? (Choose two.)

A. top
B. free
C. lshal
D. ps

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 66
What is the goal of capacity planning? (Choose three.)

A. Selecting a computer vendor
B. Sizing computers for a specific load
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C. Diagnosing capacity problems
D. Troubleshooting a software problem
E. Ensuring sufficient resources from growth

Correct Answer: BCE
Section: (none)
Explanation

Explanation/Reference:

QUESTION 67
When configuring a UNIX client to authenticate against a Microsoft Active Directory Server, the top-level entry in the domain is dc=ad,dc=example,dc=com . What is
the default DN of the container where users and groups are stored?

A. CN=USERS,DC=AD,DC=EXAMPLE,Dc=COM
B. CN=PUBLIC,DC=AD,DC=EXAMPLE,Dc=COM
C. CN=USERS,DC=AD,DC=EXAMPLE,Dc=ORG

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 68
After an administrator added comments to each line of the ACLs in slapd.conf, the ACLs ceased to function properly. What is the most likely cause of this?

A. The comments were not added using the semi-colon(;) character
B. Comments can't be used anywhere in an ACL block
C. The comments were not added using the pound (#) character
D. Comments can't be used in the slapd.cnf file

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 69
Which of the following arguments complete the command which will search for cn=ldapadmin OR ou=BR recursively in the directory?
Ldapsearch -LLL -h server -s sub -b "o=inc" "___"

A. ((cn=ldapamin)|(ou=BR))
B. ((cn=ldapamin)|(ou=BR)|)
C. (|(cn=ldapamin)|(ou=BR))
D. ((cn=ldapamin)(ou=BR))
E. ((cn=ldapamin)||(ou=BR))

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 70
Which command will instruct slurpd to process the replication error log in one-shot mode for the server 192.168.0.3?

A. slurpd -r -o </path/to/replication/error/log
B. slurpd -r -h 192.168.0.3 -o
C. slurpd -r -o 192.168.0.3
D. slurpd -r -f /path/to/replication/error/log -o
E. slurpd -r /path/to/replication/error/log o

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 71
What strategy is used to initialize NIS maps?

A. Start ypserver with the -new option
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B. Create the yp.conf configuration file then restart the NIS server process
C. Create the nis.conf configuration file then restart the NIS server process
D. Execute the make command from the /var/yp directory

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 72
What operating system tools can be used to collect capacity planning data? (Choose two.)

A. iostat
B. lsmod
C. fuser
D. vmstat

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 73
Which of the following is the correct syntax for including a schema file in slapd.conf?

A. include /usr/local/etc/openldap/schema/core.schema
B. add /usr/local/etc/openldap/schema/core.schema
C. permit /usr/local/etc/openldap/schema/core.schema
D. allow /usr/local/etc/openldap/schema/core.schema

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 74
Which LDAP object class is used in a white pages implementation?

A. OrganizationalRole
B. InetOrgPerson
C. WhitePageUser
D. FriendlyPerson
E. PosixAccount

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 75
Which command will perform a one-level search from the DN c=INC, for all entries whose organization's name beings with RioDeJaneiro?

A. ldapsearch -s sub -b "c=INC" -f "(o=RioDeJaneiro) (Description)"
B. ldapsearch -LLL -b "c=INC" "(o=description)" RioDeJaneiro*
C. ldapsearch -b "c=INC" -f (o=description,cn=RioDeJaneiro%)"
D. ldapserach -LLL -s one -b "c=INC" "(c=INC" "(o=RioDeJaneiro*)"

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 76
Which option should be used to disable anonymous binds to your LDAP directory?

A. Disallow bind_simple
B. Disallow bind_anon
C. Disallow bind_anon_cred
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D. Disallow bind_simple_unprotected

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 77
What operating system tools can be used to collect capacity planning data? (Choose two.)

A. lsmod
B. vmstat
C. fuser
D. iostat

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 78
When configuring a syncrepl provider slapd, which directives must be present in slapd.conf? (Choose TWO correct Answer)

A. syncprov-sessionlog
B. syncprov-overlay
C. syncprov-checkpoint
D. syncprov-errorlog

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:
Explanation
The provider is implemented as an overlay, so the overlay itself must first be configured in slapd.conf (5) before it can be used. The provider has only two



http://www.gratisexam.com/

configuration directives, for setting checkpoints on the contextCSN and for configuring the session log. Because the LDAP Sync search is subject to access control,
proper access control privileges should be set up for the replicated content.
The contextCSN checkpoint is configured by the syncprov-checkpoint directive. Checkpoints are only tested after successful write operations.If operations or more
than time has passed since the last checkpoint, a new checkpoint is performed. The session log is configured by the syncprov- sessionlog directive, where is the
maximum number of session log entries the session log can record. When a session log is configured, it is automatically used for all LDAP Sync searches within
the database. syncprov-checkpoint ops minutes This directive controls maintenance of the contextCSN which is normally a memory only value but is written to the
database on normal server termination and loaded from the database during server start-up operations. The directive may be used to force the provider to write the
contextCSN to the underlying database after a successful write operation after either ops write operations or more than minutes time have passed since the last
contextCSN database update (or checkpoint). syncprov-checkpoint is disabled by default. This directive is designed to minimise the amount of consumer
synchronization activity required in the event that the master (provider) DIT server crashes.
syncprov-nopresent TRUE | FALSE
If set to TRUE the Present phase of refreshing should be bypassed. This value should only be set TRUE for a syncprov instance used with a log database such as
one managed using the accesslog overlay. The default is FALSE.
syncprov-reloadhint TRUE | FALSE
Indicates the overlay should honor the reloadHint flag in the Sync Control (Note certain version 2.3 clients did not set the reloadhint flag correctly). It must be set
TRUE when using the accesslog overlay for delta-synchonization. The default is FALSE. reloadhint may be used by the consumer requesting the replication
operation to indicate that it wishes to force a complete transfer of the DIT irrespective of any other settings or values - such as the Sync Cookie.
syncprov-sessionlog ops
Indicates that a session log for recording information about write operations made on the database should be maintained by the provider. Ops specifies the number
of operations that are recorded in the log. All write operations (except Adds) are recorded in the log. When using the session log, it is helpful to set an eq index on
the entryUUID attribute in the underlying provider database

QUESTION 79
When importing the contents of one directory into another, the administrator is adding entries with the slapadd command. Which of the following statements are
true? (Choose three.)

A. slapindex must be run after slapadd, because the slapadd operation will not write to index files
B. The changes in the LDIF file will not be replicated with slurpd
C. The slapd process must be stopped before running slapadd
D. Slapstart must be run after creating the entries
E. All slave servers must be listed in the LDIF file for the entries to be replicated

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 80
After analyzing a slapd.conf file, an administrator noted that the rootdn and rootpw directives are not present. Where is the LDAP administrator account defined?



http://www.gratisexam.com/

A. The account is defined in the file /etc/ldap/secret
B. It is using the default account admin with the password admin
C. The account is defined by an ACL in slapd.conf
D. It is using the default account admin with a null password
E. The account is defined in the file /etc/ldap.root.conf

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 81
Which of the following steps should be followed when configuring a slave slapd server? (Choose three.)

A. Do not add a replogfile directive to slapd.conf
B. Add a replogfile directive to slapd.conf
C. Do not add a replica directive to slapd.conf
D. Add a replica directive to slapd.conf
E. Add an updatedn directive to slapd.conf

Correct Answer: ACE
Section: (none)
Explanation

Explanation/Reference:
updated answers

QUESTION 82
The administrator wants to add the content from an LDIF file named example.ldif to the LDAP directory. Which of the following commands will perform this task?

A. slapadd -F example.ldif
B. slapadd -f example.ldif
C. slapadd <example.ldif
D. slapadd example.ldif
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 83
When two databases are defined in slapd.conf, which of the following commands will provide a full dump of the second database?

A. slapcat -database 2
B. slap_dumpall -name nameofdatabase
C. slapcat -n 2
D. slapcat -2

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 84
Which of the following are common Net LDAP methods? (Choose three.)

A. error
B. bind
C. unbind
D. query
E. search

Correct Answer: BCE
Section: (none)
Explanation

Explanation/Reference:

QUESTION 85
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Which of the following parameters in slapd.conf are used to tune the database cache size? (Choose two.)

A. databasecachesize
B. dbcachesize
C. dcachesize
D. cachesize

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 86
Which of the following describes correct LDAP service definitions? (Choose three.)

A. LDAP is optimized for searching information
B. LDAP follows the X.500 directory standard
C. X.500 directories can run only over TCP/IP
D. LDAPv6 is the latest stable version specified by RFCs
E. LDAP was developed as a lightweight alternative to DAP

Correct Answer: ABE
Section: (none)
Explanation

Explanation/Reference:

QUESTION 87
When using the auth_ldap module with APACHE 1.3, the log displays several messages containing "protocol error". Which of the following steps should be followed
to fix the problem?

A. AuthLDAPStartTLS must be set to on
B. The Apache_auth.schema must be included in slapd.conf
C. The Apache module must be turned on in slapd.conf
D. LDAPv2 should be disallowed
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E. LDAPv3 should be allowed

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 88
Which technique could be used in analysing capacity planning data?

A. Combinatorics
B. Category Theory
C. Gate Control Theory
D. Queueing Theory

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:
Explanation
Queueing Theory
Analytic models are based on a set of formulas and computational algorithms used to generate performance metrics from model parameters. Such models are
normally based on the theory of queueing networks and are used to predict the performance of a system as a function of the system's description and workload
parameters.
Category Theory
Jack Park writes See http//www.tunes.org in particluar the paper on the Arrows system by Brian Rice. IMHO this is the software project closest to the Rosen's ideas
(which use Category Theory as a Mathematics of Knowledge)

QUESTION 89
All entries in an LDAP directory must have the ______________ attribute. 

Correct Answer: Answer: OBJECTCLASS
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 90
When configuration LDAP Support on a FreeRAIUS server, which rlm_ldap parameter is used in the radiusd.conf file to enable TLS? (Enter parameter only). 

Correct Answer: Answer: START_TLS
Section: (none)
Explanation

Explanation/Reference:

QUESTION 91
Specifying TLSVerifyClient=___________________ in slapd.conf will instruct slapd to not ask the client for a certificate. 

Correct Answer: Answer: NEVER
Section: (none)
Explanation

Explanation/Reference:

QUESTION 92
OpenLDAP v2 requires an equality index on the objectclass attribute. What line in slapd.conf will accomplish this? (Enter the entire line, separating fields with a
single space) 

Correct Answer: Answer: INDEXOBJECTLASSEQ
Section: (none)
Explanation

Explanation/Reference:

QUESTION 93
You are building a server which will authenticate users using the pam_ldap module. In addition to possessing a valid account, you only want to allow logins by users
who are members of a certain group. Which parameter in ldap.conf will allow you to specify a filter string to be ANDed with the login attribute when validating a
user? (Enter only the parameter without any options or values) 

Correct Answer: Answer: PAM_FILTER
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 94
The __________ daemon provides the capability for a master slapd server to propagate changes to a slave. 

Correct Answer: Answer: SLURPD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 95
Which configuration option will enable SSL/TLS encryption when compiling OpenLDAP? 

Correct Answer: Answer: --WITH-TLS
Section: (none)
Explanation

Explanation/Reference:

QUESTION 96
Which changetype operation is used to rename the Relative Distinguished Name (RDN) of an LDAP entry? 

Correct Answer: Answer: MODRDN
Section: (none)
Explanation

Explanation/Reference:

QUESTION 97
Several mail clients do not support LDAP version 3 binding. If an installation of OpenLDAP rejects version 2 binds by default, what line must be added to slapd.conf
to support these clients? 

Correct Answer: Answer: ALLOWBIND_V2
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 98
The _______ Perl module gives the programmer the ability to work with LDIF files in perl. (Specify the module in Perl's Module) 

Correct Answer: Answer: NETLDAPLDIF
Section: (none)
Explanation

Explanation/Reference:

QUESTION 99
Which port number should be used to test LDAP Security Sockets Layer (SSL) traffic? 

Correct Answer: Answer: 636
Section: (none)
Explanation

Explanation/Reference:

QUESTION 100
Which slapd.conf directive defines the level of logging slapd will perform? 

Correct Answer: Answer: LOGLEVEL
Section: (none)
Explanation

Explanation/Reference:
valid answer

QUESTION 101
Which slapd database tool is used to add information to the directory while it is offline? 
(Enter the command with no path, options or parameters) 

Correct Answer: Answer: SLAPADD
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 102
In an LDAP slave's slapd.conf configuration file, which parameter must match the binddn parameter of the master server? 

Correct Answer: Answer: UPDATEDN
Section: (none)
Explanation

Explanation/Reference:

QUESTION 103
After configuring a Unix workstation for LDAP authentication, you type the command 'id joe' and discover that the user's UID/GID information is still being retrieved
from local password files. Which file did you most likely forget to update? 

Correct Answer: Answer: /etc/nsswitch.conf
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 104
The ________ command is used to check the integrity of the slapd.conf file (Enter only the command) 

Correct Answer: Answer: SLAPTEST
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 105
An administrator is planning a partition scheme for a new Linux installation. Which of the following directories should the administrator consider for separate
partitions? (Select THREE).

A. /etc
B. /home
C. /var
D. /lib
E. /tmp

Correct Answer: BCE
Section: (none)
Explanation

Explanation/Reference:

QUESTION 106
Which of the following is the difference between the --remove and the --purge action with the dpkg command?

A. --remove removes the program, --purge also removes the config files.
B. --remove only removes the program, --purge only removes the config files.
C. --remove removes a package, --purge also removes all packages dependent on it.
D. --remove removes only the package file itself, --purge removes all files related to the package.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 107
Which of the following is the process ID number of the init program?

A. -1
B. 0
C. 1
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D. It is different with each reboot.
E. It is set to the current run level.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
perfect answer

QUESTION 108
Pressing the Ctrl-C combination on the keyboard while a command is executing in the foreground sends which of following signal codes?

A. 1 (SIGHUP)
B. 2 (SIGINT)
C. 3 (SIGQUIT)
D. 9 (SIGKILL)
E. 15 (SIGTERM)

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 109
To what environment variable will an administrator assign or append a value if the administrator needs to tell the dynamic linker to look in a build directory for some
of a program's shared libraries?

A. LD_LOAD_PATH
B. LD_LIB_PATH
C. LD_LIBRARY_PATH
D. LD_SHARE_PATH
E. LD_RUN_PATH

Correct Answer: C
Section: (none)
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Explanation

Explanation/Reference:

QUESTION 110
An administrator has just added a CD-ROM drive (/dev/hdd) to a system and added it to the administrator's fstab. Typically the administrator can use which of the
following commands to mount media in that drive to /mnt/cdrom?

A. mount /dev/cdrom /mnt/cdrom
B. mount /dev/cdrom
C. mount -t cdrom /dev/cdrom /mnt/cdrom
D. mount /mnt/cdrom
E. automount /mnt/hdd /mnt/cdrom}

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 111
An administrator wishes to kill a process with a PID of 123. Which of the following commands will allow the process to "clean up" before exiting?

A. kill -1 123
B. kill -9 123
C. kill -15 123
D. kill -17 123

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 112
To ensure that a running process continue to execute after you log out, the process should be started with which of the following commands?
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A. nohup
B. fg
C. live
D. sh

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 113
The system is having trouble and the engineer wants to bypass the usual /sbin/init start up and run /bin/sh. Which of the following is the usual way to pass this
change to the kernel from the boot loader?

A. Start in runlevel 1.
B. Pass init=/bin/sh on the kernel parameter line.
C. Pass /bin/sh on the kernel parameter line.
D. Pass start=/bin/sh on the kernel parameter line.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 114
Which of the following does the command mount -a do?

A. It mounts the floppy disk for all users.
B. It shows all mounted file systems.
C. It opens /etc/fstab to edit.
D. It mounts all file systems listed in /etc/fstab.

Correct Answer: D
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 115
How can an administrator update a package only if an earlier version is currently installed on the system?

A. rpm --update rpmname
B. rpm -U rpmname
C. rpm -F rpmname
D. rpm --force rpmname
E. rpm -u rpmname

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 116
Which of the following commands will show the contents of a gzip compressed tar archive?

A. gzip archive.tgz | tar xvf -
B. tar ztf archive.tgz
C. gzip -d archive.tgz | tar tvf -
D. tar cf archive.tgz

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 117
Which of the following commands can be used to instruct the init process to switch runlevels? (Select TWO).
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A. telinit
B. initctl
C. init
D. reinit
E. runlevel

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 118
All of the following commands will execute the bash script /usr/local/bin/runme.sh EXCEPT:

A. source /usr/local/bin/runme.sh
B. . /usr/local/bin/runme.sh
C. /bin/bash /usr/local/bin/runme.sh
D. /usr/local/bin/runme.sh
E. run /usr/local/bin/runme.sh

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 119
An administrator is experimenting with a binary in /tmp/foo.d that expects its configuration file at /etc/foo.conf. The administrator does not want to save it there, but
use a symbolic link to /tmp/foo.d/foo.conf instead. Which of the following commands would accomplish this?

A. ln -s /tmp/foo.d/foo.conf /etc/foo.conf
B. ln /tmp/foo.d/foo.conf /etc/foo.conf
C. ln -s /etc/foo.conf /tmp/foo.d/foo.conf
D. ln /etc/foo.conf /tmp/foo.d/foo.conf
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Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 120
The message "Hard Disk Error" is displayed on the screen during Stage 1 of the GRUB boot process.
Which of the following does this indicate?

A. The kernel was unable to execute /bin/init
B. The next Stage cannot be read from the hard disk because GRUB was unable to determine the size and geometry of the disk
C. One or more of the filesystems on the hard disk has errors and a filesystem check should be run
D. The BIOS was unable to read the necessary data from the Master Boot Record to begin the boot process

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 121
Which of the following commands is run LAST during boot on a system with quotas enabled?

A. fsck
B. mount
C. quotacheck
D. quotaon

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 122
An administrator has read/write permissions on an ordinary file foo. The administrator has just run ln foo bar. Which of the following would occur if the administrator
ran rm foo?

A. foo and bar would both be removed.
B. foo would be removed while bar would remain accessible.
C. foo would be removed. bar would still exist but would be unusable.
D. Both foo and bar would remain accessible.
E. The administrator would be asked whether bar should be removed.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 123
Which of the following commands will send output from the program myapp to both standard output (stdout) and the file file1.log?

A. cat < myapp | cat > file1.log
B. myapp 0>&1 | cat > file1.log
C. myapp | cat > file1.log
D. myapp | tee file1.log
E. tee myapp file1.log

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 124
Which of the following Linux filesystems pre-allocates a fixed number of inodes at filesystems make/creation time, and does NOT generate them as needed?

A. ext3
B. jfs
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C. reiserfs
D. xfs

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 125
An administrator is having some trouble with a disk partition and needs to do maintenance on this partition. The administrator's users home directories are on it and
several are logged in. Which of the following commands would disconnect the users and allow the administrator to safely execute maintenance tasks?

A. telinit 1
B. shutdown -r now
C. killall -9 inetd
D. /bin/netstop --maint
E. /etc/rc.d/init.d/network stop

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 126
Which of the following Debian package system commands will list all partially installed packages and suggest how to get them correctly installed?

A. dpkg -C
B. apt-get -u
C. dpkg -Dh
D. dpkg -l
E. apt-get -y

Correct Answer: A
Section: (none)
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Explanation

Explanation/Reference:

QUESTION 127
The message "Hard Disk Error" is displayed on the screen during Stage 1 of the GRUB boot process.
Which of the following does this indicate?

A. The kernel was unable to execute /bin/init
B. The next Stage cannot be read from the hard disk because GRUB was unable to determine the size and geometry of the disk
C. One or more of the filesystems on the hard disk has errors and a filesystem check should be run
D. The BIOS was unable to read the necessary data from the Master Boot Record to begin the boot process

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 128
An administrator wants the default permissions for their files to be -rw-r-----. How must the administrator set umask?

A. 037
B. 640
C. 038
D. 027

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 129
An administrator is writing text in vi. Now the administrator wants to save their changes and exit. Which of the following sequence of inputs will accomplish this?
(Select TWO).
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A. esc ZZ
B. ctrl :w!
C. esc zz
D. esc :wq!
E. ctrl XX

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 130
While editing a file in vi, an administrator realizes that the wrong file is being changed. Which of the following vi command sequences will allow the administrator to
quit without saving any changes?

A. :Q!
B. :q!
C. :w!
D. :wq!

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
verified answer

QUESTION 131
In the command foo < bar | foobar, which of the following statements is correct?

A. The stdout from the command foobar is saved to the file foo.
B. The stdout from the command foo is saved to the file foobar.
C. The command foobar receives its stdin from the stderr of foo.
D. The command foobar receives its stdin from the stdout of foo.
E. The command bar receives its stdin from the contents of the file foobar.



http://www.gratisexam.com/

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 132
Which of the following is the output when the below shell script executes? cat <<foobar Hello foobar foobar

A. The contents of the file foobar
B. Hello
C. No output but a file named foobar is created
D. Hello foobar
E. Hello foobar

foobar

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 133
The USB device filesystem can be found under /proc/______/usb/. (Please fill in the blank with the single word only).

Correct Answer: Answer: bus
Section: (none)
Explanation

Explanation/Reference:

QUESTION 134
The priority of any process can range from -20 to ________. (Provide only the numerical value).

Correct Answer: Answer: +19,19
Section: (none)
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Explanation

Explanation/Reference:

QUESTION 135
An administrator has written a custom tool on their local system. Following the Filesystem Hierarchy Standard (FHS), where should the administrator install the
binaries to be available to all users on the administrator's system?

Correct Answer: Answer: /usr/local/bin,/usr/local/bin/
Section: (none)
Explanation

Explanation/Reference:

QUESTION 136
An administrator wants to display all currently mounted file systems. Which command would be used? (Please enter only a single command without arguments or
options).

Correct Answer: Answer: /bin/df,/bin/mount,df,mount
Section: (none)
Explanation

Explanation/Reference:

QUESTION 137
Upon booting a Linux box, an administrator notices a message scrolling by that does not look right, but it goes by so fast, the administrator does not have a chance
to read it. What command could the administrator use to view that message after the boot process completes? (Please enter only a single command and do not
enter duplicate answers in this field.)

Correct Answer: Answer: /bin/dmesg,dmesg
Section: (none)
Explanation

Explanation/Reference:

QUESTION 138
All of the following commands will update the Modify timestamp on the file /tmp/myfile.txt EXCEPT:
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A. file /tmp/myfile.txt
B. echo "Hello" >/tmp/myfile.txt
C. sed -ie "s/1/2/" /tmp/myfile.txt
D. echo -n "Hello" >/tmp/myfile.txt
E. touch /tmp/myfile.txt

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 139
In the vi editor, which of the following commands will delete the current line at the cursor and the 16 lines following it (17 lines total)?

A. 17d
B. 17dd
C. 17x
D. d17d
E. 16d

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 140
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In compliance with the FHS, in which of the following places are man pages typically found?

A. /usr/share/man
B. /opt/man
C. /usr/doc/
D. /var/pkg/man
E. /usr/local/man

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 141
The lspci command can display information about devices EXCEPT:

A. card bus speed (e.g. 66Mhz).
B. card IRQ settings.
C. card vendor identification.
D. card AGP rate (e.g. 1x, 2x, 4x).
E. card Ethernet MAC address.

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:
answer updated

QUESTION 142
Which of the following command lines would an administrator use to restrict the GNU find command to searching a particular number of subdirectories?

A. --max-dirs
B. -dirmax
C. -maxdepth
D. -s
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E. -n

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 143
An administrator is looking for an executable file foo. Which of the following commands would search for foo within directories set in the shell variable, PATH?

A. locate
B. which
C. find
D. query
E. whereis

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 144
Which of the following commands will allow an administrator to adjust the number of mounts after which an existing filesystem will be checked by e2fsck?

A. debugfs
B. dumpe2fs
C. mode2fs
D. tune2fs
E. mke2fs

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 145
Which of the following directories contains additional information about installed packages?

A. /usr/share/documentation
B. /usr/local/share/documentation
C. /usr/local/doc
D. /usr/share/doc
E. /usr/packages/doc

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 146
All of the following commands will execute the bash script /usr/local/bin/runme.sh EXCEPT:

A. source /usr/local/bin/runme.sh
B. . /usr/local/bin/runme.sh
C. /bin/bash /usr/local/bin/runme.sh
D. /usr/local/bin/runme.sh
E. run /usr/local/bin/runme.sh

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 147
Which of the following commands will change all CR-LF pairs in an imported text file, userlist.txt, to Linux standard LF characters and store it as newlist.txt?

A. tr '\r\n' '' < userlist.txt > newlist.txt
B. tr -c '\n\r' '' < newlist.txt > userlist.txt
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C. tr -d '\r' < userlist.txt > newlist.txt
D. tr '\r' '\n' userlist.txt newlist.txt
E. tr -s '^M' '^J' userlist.txt newlist.txt

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 148
Bob accidentally created the subdirectory \bobsdir in his home directory. He tried to remove the subdirectory with the command rmdir \bobsfile only to receive the
error, "No such file or directory." . Which of the following commands will remove the directory?

A. rmdir '~bob/\bobsdir'
B. rmdir "~bob/\bobsdir"
C. rmdir ~bob/'bobsdir'
D. rmdir ~bob/\bobsdir
E. rmdir ~bob/\\bobsdir

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:

QUESTION 149
Many people like the vi text editor but the default bash command line editor recognizes emacs keystrokes. Which of the following commands, entered into a bash
initialization file, will have bash recognize vi keystrokes after login?

A. history -p vi
B. alias emacs=vi
C. HISTCMD=vi
D. set -o vi
E. unset emacs
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Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 150
After modifying the indexes for a database in slapd.conf and running slapindex- the slapd daemon refuses to start when its init script is called. What is the most
likely cause of this?

A. The indexes are not compatible with the init script
B. The init script is starting slapd as an ordinary user and the index files are owned by root
C. The init script has identified one or more invalid indexes
D. The init script can't be run after executing slapindex, without first signing the indexes with slapsign

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 151
An administrator notices that searches are being processed sequentially and taking a long time to complete. What should be done to speed up the searches?

A. Refine the search filter
B. Use the -binarytreesearch option with ldapsearch
C. Use the -fuzzy option with ldapsearch
D. Add the correct indexes in slapd.conf, stop the server and run slapindex

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 152
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When performing a capacity planning exercise, when would taking measurements be most appropriate?

A. After an overload or an episode
B. After replacing problematic hardware
C. During successful operation
D. During an overload or an episode

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 153
Which of the following tools are used to measure memory usage? (Choose three.)

A. vmstat
B. sar
C. top
D. pstree
E. mpstat

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:
valid answers

QUESTION 154
When configuring a UNIX client to authenticate against a Microsoft Active Directory server, the top-level entry in the domain is dc=ad,dc=example,dc=com. What is
the default DN of the container where users and groups are stored?

A. CN=USERS,DC=DA,DC=EXAMPLE,DC=COM
B. CN=EXAMPLE,DC=AD,DC=USERS,DC=COM
C. CN=USERS,DC=AD,DC=EXAMPLE,DC=COM
D. CN=USERS,DC=AD,DC=EXAMPLE,DC=ORG
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 155
What settings may a user enter when configuring Microsoft Outlook to connect to an LDAP white pages services? (Choose three.)

A. Alias dereferencing options
B. SASL configuration
C. Search base
D. Maximum number of entries to return on a successful search
E. Search timeout

Correct Answer: CDE
Section: (none)
Explanation

Explanation/Reference:

QUESTION 156
.When assigned to the ref attribute for ou=people,dc=example,dc=com, which of the following values will create a subordinate knowledge link to
slave.example.com?

A. ldap//slave.examle.com?ou=people,dc=example,dc=com
B. ldap//slave.examle.com/ou=people,dc=example,dc=com
C. ldap//slave.examle.com,ou=people,dc=example,dc=com
D. ldap//slave.examle.com ou=people,dc=example,dc=com

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 157
Which statements are true of object classes in an LDAP directory? (Choose two.)

A. An entry can't have more than one auxiliary object class
B. Auxiliary object classes - When used on their own - provide access to extended schema
C. An entry can't have more than one structural object class
D. Abstract object classes are no longer officially support by the LDAP protocol
E. Once an entry has been created, its structural object class can't be changed without re-creating the entry

Correct Answer: CE
Section: (none)
Explanation

Explanation/Reference:

QUESTION 158
What is the goal of capacity planning? (Choose three.)

A. Sizing computers for a specified load
B. Ensuring sufficient resources for growth
C. Diagnosing capacity problems
D. Troubleshooting a software problem
E. Selecting a computer vendor

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 159
Select the INFCORRECT statement regarding the LDIF file format

A. In the file, a blank line separates one entry from another one
B. The LDIF file accepts any type of file encoding
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C. If the attribute contains binary data, some specific configurations must be made for this entry
D. It must contains a "dn" line (or distinguished name), that indicates where the attributes listed in the following lines of the file must be added

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 160
Which of the following tools are used to measure memory usage? (Choose three.)

A. pstree
B. vmstat
C. mpstat
D. top
E. sar

Correct Answer: BDE
Section: (none)
Explanation

Explanation/Reference:

QUESTION 161
A private OID should be obtained for a company when

A. The company plans to create custom schema files for their directory
B. That company runs out of public OIDS
C. The company wants to make their directory available to the public on the World Wide Web
D. The company intends to use LDAP for commercial purposes

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 162
Which of the following switches for the ldapsearch command makes sure that search referrals are followed?

A. -C
B. -R
C. -r
D. S

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 163
An administrators has manually migrated local accounts to LDAP, instead of using the migration tools. When trying to authenticate as a user, as error is returned
about invalid credentials. What is the most likely cause of this?

A. The password hash type was not included in the user's password attribute
B. The administrator forgot to run slappasswd to convert the hashes in /etc/shadow
C. The original password from /etc/passwd was not included
D. Shadow passwords are incompatible with OpenLDAP
E. The administrator forgot to run ldappasswd to convert the hashes in /etc/shadow

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 164
In the following output, what was the maximum number of processes swapped out at any time? Exhibit
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A. 0
B. 2
C. 1
D. 27
E. 8

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 165
Which command should be used to optimize LDAP searches?

A. ldapsearch -h sub
B. slapd -r +20
C. slapindex
D. make /var/lib/openldap-data/
E. slapd-instances=10-f
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 166
When investigating memory usage, what is the most important measurement for capacity planning purposes?

A. Virtual memory size (VSZ)
B. Swap memory usage
C. Total Memory
D. resident set size (RSS)

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 167
What is true of any created custom attribute or object class?

A. It must not contain any numbers
B. It can't be placed in one of the default distributed schema files
C. The name must be registered with IANA to avoid conflicts with other custom schemas
D. It must have a unique OID

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 168
When logged in to a workstation which retrieves most of its user information from NIS, which command can be used to list ALL to users?
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A. ypusers list
B. cat /etc/passwd
C. cat /var/lib/nis/passwd
D. getent passwd
E. show users

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 169
A user is unable to login on a workstation where NSCD was configured BEFORE the pam_ldap and nss_ldap modules. What should be done to fix this problem?

A. Nscd must be started with -ldap=yes option
B. Restart the NSS Server
C. Restart the nscd daemon
D. Restart the PAM Server
E. Nscd incompatible with OpenLDAP and should be disabled

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 170
Which of the following is correct about this excerpt from an LDIF file? Dn cn=PrintOperators,ou=Groups,ou=IT,o=BR

A. dn is the domain name
B. o is the organizational unit
C. cn is the common name
D. dn is the relative distinguished name
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 171
In capacity planning exercises, what tools assist in identifying processes of interest from other processes? (Choose two.)

A. free
B. top
C. lshal
D. ps

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 172
Which of the following resources would be measured for capacity planning? (Choose two.)

A. Application load time
B. Disk Usage
C. Memory usage
D. CPU Usage

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 173
After configuration PAM and NSS to integrate with OpenLDAP, the SSH server refuses to authenticate users who are only in LDAP. What is the first step you
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should follow to debug this problem?

A. Restart the sshd server
B. Restart the nssd server
C. Add the Use_LDAP=yes parameter to sshd_config
D. Restart the pamd service

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 174
What operating system tools can be used to collect capacity planning data? (Choose two.)

A. lsof
B. fuser
C. top
D. ps

Correct Answer: CD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 175
What does the LDIF acronym stand for?

A. Lightweight Database Interchange Format
B. LDAP Database Interchange Format
C. LDAP Data Internet File
D. LDAP Data Interchange Format

Correct Answer: D
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 176
When configuring an LDAP system for integration with PAM and NSS the /etc/nsswitch.conf file needs to be modified. What is the best choice below to fill in this
line from the /etc/nsswitch.conf file? passwd: files ___________

A. pam
B. ldap
C. pam_nss
D. pam_ldap
E. none

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Reference: https://wiki.archlinux.org/index.php/LDAP_Authentication (Configure NSS, see the second blue box and first line)

QUESTION 177
When planning a web server which of the following choices will impact system sizing? (Specify THREE answers)

A. How many concurrent users are expected
B. Which hardware vendor has better Linux support.
C. What type of content will be served
D. What scripting languages will the web server support.
E. Will the OS install be CD. DVD or network based.

Correct Answer: ACD
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 178
In the following output, what percentage of time was the CPU waiting for pending I/O?

A. 0
B. 100
C. 35.9
D. 35.7
E. 36.6

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 179
In the following output, what is the 5 minute load average for the system?

[root@server ~]# uptime
12:10:05 up 18 days, 19:00, 2 users, load average: 0.47, 24.71, 35.31

A. 0.47
B. 24.71
C. 35.31
D. There is no 5 minute interval. It is some value between 0.47 and 24.71.
E. There is no 5 minute interval. It is some value between 24.71 and 35.31.

Correct Answer: D
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 180
In the below example output, which columns detail the percent of time the CPU is in User Mode and the percent of time the CPU is in System Mode? (Please
specify the TWO correct answers)

A. id
B. us
C. wa
D. sy

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 181
In this example output, which descriptions match the purpose of the free, buff and cache columns? (Specify THREE correct answers)
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A. Used swap space
B. RAM available for filesystem buffers
C. Available free RAM
D. RAM used for buffers
E. RAM used for filesystem cache

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 182
Which of the following are valid choices for the LDAP database backend? (Choose THREE correct answers.)

A. file
B. config
C. passwd
D. LDBM
E. shell

Correct Answer: CDE
Section: (none)
Explanation

Explanation/Reference:
valuable answers
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QUESTION 183
What is the utility used to test that slapd.conf is usable and minimally complete?

A. slapdtest
B. slaptest
C. ldapsearch
D. ldaptest

Correct Answer: 
Section: (none)
Explanation

Explanation/Reference:
Answer: http://tldp.org/HOWTO/LDAP-HOWTO/ldapbackends.html ( see 1.3, second sentence)

QUESTION 184
In the example below, what is the missing argument that is required to use `secret' as the password to authenticate the replication push with a slave directory
server?

A. secure
B. master
C. credentials
D. password

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: http://www.openldap.org/doc/admin24/replication.html (18.3.1.3 Set up the consumer slapd, see the example code)

QUESTION 185
When securing the LDAP directory using TCP Wrappers, choose the correct option to exclude any network not defined in the sample below from having access to
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the directory.

slapd: 10.0.0.0/255.0.0.0 127.0.0.1 : ALLOW
slapd: ______________: DENY

A. ANY
B. ACCESS
C. ALL
D. NONE

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Reference: http://www.openldap.org/doc/admin24/security.html (14.1.3. TCP Wrappers)

QUESTION 186
After updating and adding indexes to the configuration file, what is the utility used to regenerate the indices?

A. slapindex
B. slapdindex
C. ldapindex
D. slapdindices

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 187
What is the slapd.conf directive used to load classes into the LDAP configuration?

A. Class
B. objectClass
C. objectConflg
D. objectConfigClass
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 188
When importing employee information for the corporate whitepages, which department is Gerald to be assigned, according to this excerpt from the LDIF file?

dn: cn=Gerald W. Cartec, ou=engineering,dc=plainjoe,dc=org

A. plainjoe
B. plain30e.org
C. none
D. engineering

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 189
Often times LDAP administrators may find it is necessary to limit the number of search results from the directory. In the global section of the slapd.conf file it is
possible to set both hard and soft limits. Select below which single item would set a soft limit of 10 and a hard limit of 25 on search results.

A. searchlimit size.soft=10 sise.hard=25
B. sizelimit size.soft=10 size.hard=25
C. sizelimit size.hard=10 size.soft=25
D. search sizelimit size.soft=10 size.hard=25

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
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Reference: http://www.openldap.org/doc/admin24/limits.html (9.3.Global limits, see the last code under the topic)

QUESTION 190
What are the expected results of the following command:
ldapsearch -LLL "(cn=Steve Smith)" cn sn telephoneNumber

A. dn: uid=jts,dc=example,dc=com
cn: John Smith
cn: John T. Smith
sn: Smith
telephoneNumber: 1 555 123-4567
B
dn: uid=sss,dc=example/dc=com
cn: Steve Smith
cn: Steve S. Smith
sn: Smith
telephoneNumber: 1 555 765-4321

B. dn: uid=sss,dc=example,dc=com
sn: Smith
telephoneNumber: 1 555 765-4321

C. dn: uid=sss,dc=example,dc=com
cn: Steve Smith
cn: Steve S. Smith

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 191
Which of the following does the Filesystem Hierarchy Standard enable? (Select TWO).

A. Software to predict the location of installed files and directories.
B. Software to predict the ownership and access rights to files and directories.
C. Users to predict the location of installed files and directories.
D. Users to predict how the filesystem should be formatted according to need.

Correct Answer: AC
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Section: (none)
Explanation

Explanation/Reference:

QUESTION 192
Which of the following chown commands will change the ownership to foo and the group to bar on a file named biglist?

A. chown foo/bar biglist
B. chown -u foo -g bar biglist
C. chown foo:bar biglist
D. chown --user foo --group bar biglist

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 193
To allow a regular user account to mount and unmount a filesystem (for instance, a cdrom or floppy), which of the following options will need to be added to the
corresponding line in /etc/fstab?

A. nouidchk
B. alluser
C. user
D. auto

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 194
An administrator is trying to make a hard link to an ordinary file but ln returns an error. Which of the following could cause this?
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A. The source file is hidden.
B. The source file is read-only.
C. The source file is a shell script.
D. The administrator does not own the source file.
E. The source and the target are on different filesystems.

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 195
Which of the following commands will print to standard out only the lines that do not begin with # (pound symbol) in the file foobar?

A. /bin/grep ^# foobar
B. /bin/grep -v ^# foobar
C. /bin/grep #$ foobar
D. /bin/grep -v #$ foobar

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 196
For which of the following can the tee command be used?
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A. Print the contents of a file in reverse order.
B. Use the output of one command as arguments to another.
C. Add line numbers to the output of a command.
D. Pipe the output of one command into the input of another.
E. Send a command's output to stdout and a to file at the same time.

Correct Answer: E
Section: (none)
Explanation

Explanation/Reference:
updated answer

QUESTION 197
In bash, inserting 1>&2 after a command redirects:

A. standard error to standard input.
B. standard input to standard error.
C. standard output to standard error.
D. standard error to standard output.
E. standard output to standard input.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 198
An administrator has created a really long letter and after the administrator is done, notices that the name "Bob" has been used many times. The administrator
forgot to capitalize it in many instances. Which of the following commands would replace "bob" with "Bob" in all instances and generate a new letter for printing?

A. sed '/bob/Bob' letter > newletter
B. sed s/bob/Bob/ letter < newletter
C. sed 's/bob/Bob' letter > newletter
D. sed 's/bob/Bob/g' letter > newletter
E. sed 's/bob, Bob/' letter > newletter
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Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 199
Which of the following commands will create an ext3 filesystem on /dev/hda2?

A. /sbin/mke2fs -d /dev/hda2
B. /sbin/mke2fs -j /dev/hda2
C. /sbin/mke2fs -m 3 /dev/hda2
D. /sbin/mke2fs -c ext3 /dev/hda2

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 200
Which of the following is the default process priority when a process is started using the nice command?

A. -10
B. 10
C. 20
D. 0

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 201
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Which of the following RPM commands will output the name of the package which installed the file /etc/exports?

A. rpm -F /etc/exports
B. rpm -qf /etc/exports
C. rpm -Kl /etc/exports
D. rpm -qp /etc/exports
E. rpm -qi /etc/exports

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 202
Which of the following commands will print a list of usernames (first column) and their corresponding user id (uid, third column) from /etc/passwd?

A. cut -d: -f1,3 /etc/passwd
B. chop -c 1,3 /etc/passwd
C. tac 1-3 /etc/passwd
D. fmt -u /etc/passwd

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 203
Which of the following commands will print the inode usage on each mounted filesystem?

A. du -i
B. df -i
C. lsfs -i
D. printfs -i
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 204
Which of the following is true when hard-linked files are present?

A. The output of stat will report "hard" instead of "regular file"
B. The hard-linked files may not be empty
C. Both files will share the same inode
D. Issuing a long directory listing with ls -l will indicate the link with "->"
E. The file permissions will be prefixed by an "h", eg. hrwxr-x-r-x

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 205
Which of the following files should be edited to select the network locations from which Debian installation package files are loaded?

A. /etc/dpkg/dpkg.cfg
B. /etc/apt/apt.conf
C. /etc/apt/apt.conf.d
D. /etc/apt/sources.list
E. /etc/dpkg/dselect.cfg

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 206
Which of the following commands will print to standard out only the lines that do not begin with # (pound symbol) in the file foobar?

A. /bin/grep ^# foobar
B. /bin/grep -v ^# foobar
C. /bin/grep #$ foobar
D. /bin/grep -v #$ foobar

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
valuable answer

QUESTION 207
Which of the following directories contains additional information about installed packages?

A. /usr/share/documentation
B. /usr/local/share/documentation
C. /usr/local/doc
D. /usr/share/doc
E. /usr/packages/doc

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 208
What does the slapindex tool do?

A. Defragments the LDAP database files
B. Displays only the DN of every entry in the directory, sorted by container
C. Displays information about he currently configured indexes
D. Regenerates indexes defined in slapd.conf
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Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 209
Which one of the following pieces of information is not present in the slurpd replication log file?

A. The address of the remote LDAP slave server
B. The name of the user who initiated the modification
C. A timestamp of when the modification took place
D. A timestamp of when the change has taken place on the slave

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 210
Which of the following are valid LDAP client command? (Choose two.)

A. slapcat
B. ldappasswd
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C. ldapwhoami
D. ldapbrowser
E. slaptest
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Correct Answer: BC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 211
What operating system tools can be used to collect capacity planning data? (Choose two.)

A. ps
B. fuser
C. top
D. lsof

Correct Answer: AC
Section: (none)
Explanation

Explanation/Reference:

QUESTION 212
Which of the following tools are used to measure network I/O?

A. route
B. netstat
C. iostat
D. vmstat

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 213
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Which of the following resources would be measured for capacity planning? (Choose two.)

A. CPU Usage
B. Application load time
C. Disk Usage
D. Memory usage

Correct Answer: AD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 214
In the following output, what resource is the program being observed using the most?

A. Memory
B. Network I/O
C. CPU
D. Disk I/O

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 215
To restrict user authentication to ONLY users who belong to a specific organizational unit, which file should be modified?

A. /etc/pam.d/ldap
B. pam_ldap.conf
C. /etc/pam.d/login
D. ldap.conf
E. pam.conf
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Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 216
In capacity planning exercises, what tools assist in identifying processes of interest from other processes? (Choose two.)

A. acpid
B. pstree
C. w
D. lsof

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 217
In the following output, what does the 1 in the b column indicate?

A. A process is blocked on I/O
B. A process is waiting on a parent to check its exit value
C. A process is swapped and waiting
D. A process is waiting

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 218
Which of the following tools are used to measure disk I/O? (Select THREE correct Answers.)
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A. lpstat
B. sar
C. iostat
D. vmstat
E. mpstat

Correct Answer: BCE
Section: (none)
Explanation

Explanation/Reference:
Explanation
The primary tool to use in troubleshooting disk I/O problems is iostat. sar -d provides useful historical context. vmstat can provide information about disk saturation.
For Solaris 10 systems, dtrace can provide extremely fine-grained information about I/O performance and what is causing any utilization or saturation problems.
The DTrace Toolkit provides a number of ready-to-use scripts to take advantage of DTrace's capabilities. UNIX man pages vmstat () vmstat reports information
about processes, memory, paging, block IO, traps, and cpu activity. The first report produced gives averages since the last reboot. Additional reports give
information on a sampling period of length delay. The process and memory reports are instantaneous in either case.
UNIX man pages iostat (8)
The iostat utility displays kernel I/O statistics on terminal, device and cpu operations. The first statistics that are printed are averaged over the system uptime. To get
information about the current activity, a suitable wait time should be specified, so that the subsequent sets of printed statistics will be averaged over that time.
UNIX man pages sar (1)
In the first instance, sar samples cumulative activity counters in the operating system at n intervals of t seconds, where t should be 5 or greater. If t is specified with
more than one option, all headers are printed together and the output may be difficult to read. (If the sampling interval is less than 5, the activity of sar itself may
affect the sample.) If the -o option is specified, it saves the samples in filename in binary format. The default value of n is 1.
UNIX man pages mpstat (1M)
mpstat reports processor statistics in tabular form. Each row of the table represents the activity of one processor. The first table summarizes all activity since boot;
each subsequent table summarizes activity for the preceding interval. All values are rates (events per second) unless otherwise noted.
UNIX man pages lpstat (1)
lpstat displays status information about the current classes, jobs, and printers. When run with no arguments, lpstat will list jobs queued by the current user.

QUESTION 219
Which of the following statements about the ldapsearch command are true? (Choose three.)

A. The -b option specifies the database where the LDIF file will be included
B. It is possible to configure a specific LDAP server for the search with the -h option
C. The -L option is useful when for viewing details of LDIF files
D. The -Z option requires a successful StartTLS operation in order to continue
E. With the -x option, the simple bind authentication method will be used
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Correct Answer: BCE
Section: (none)
Explanation

Explanation/Reference:

QUESTION 220
An administrator is adding several LDIF files to the directory with slapadd and the new entries are not displayed when ldapsearch is used. Assuming that there is no
database corruption, what is the most appropriate solution to the problem?

A. Run ldaprefresh_all
B. Run slaprefresh_all
C. Stop the slapd process, run slapindex and then correct the entries using slap_vaccum
D. Stop the slapd process and add the files again with slapadd

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 221
Which of he following steps should be followed when configuring a slave slapd server? (Choose three.)

A. Do not add a replica directive to slapd.conf
B. Do not add a replogfile directive to slapd.conf
C. Add an updatedn directive to slapd.conf
D. Add a replica directive to slapd.conf
E. Add a replogfile directive to slapd.cnf

Correct Answer: ABC
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 222
Given the following output: prompt> myapp [1]+ Stopped myapp prompt> Which of the following commands will resume executing the stopped process while
allowing the user to continue to type commands at the command prompt?

A. bg myapp
B. continue myapp
C. exec myapp
D. fg myapp
E. myapp &

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 223
Which of the following utilities would an administrator use to change how often a filesystem check was performed over an EXT2 filesystem (without losing any data
stored on that filesystem)?

A. mod2fs
B. fsck
C. tune2fs
D. mke2fs
E. fixe2fs

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 224
Which of the following is the proper device for the third partition, on the second hard disk, on the first IDE controller, on a PC system?

A. /dev/hdb3
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B. /dev/hd1b3
C. /dev/hdc1b3
D. /dev/hdc1d2p3

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 225
Which of the following commands is used to dump files in octal format?

A. od
B. octdump
C. dumpoct
D. cat -o

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 226
Which of the following configuration files should be modified to disable the ctrl-alt-delete key combination?

A. /etc/keys
B. /proc/keys
C. /etc/inittab
D. /proc/inittab
E. /etc/reboot

Correct Answer: C
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 227
All of the following commands will update the Modify timestamp on the file /tmp/myfile.txt EXCEPT:

A. file /tmp/myfile.txt
B. echo "Hello" >/tmp/myfile.txt
C. sed -ie "s/1/2/" /tmp/myfile.txt
D. echo -n "Hello" >/tmp/myfile.txt
E. touch /tmp/myfile.txt

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 228
An administrator has sent their current vi process with a PID of 1423 to the background on the command line. Assuming no other processes are in the background,
what single command with no options or parameters will bring the vi process to the foreground?

Correct Answer: Answer: %1,fg
Section: (none)
Explanation

Explanation/Reference:
fg is a job control command in Unix and Unix-like operating systems that resumes execution of a suspended process by bringing it to the foreground and thus
redirecting its standard input and output streams to the user's terminal.

QUESTION 229
Which command will display messages from the kernel that were output during the normal bootup sequence? (Please enter only a single command and do not
enter duplicate answers in this field.)

Correct Answer: Answer: /bin/dmesg,dmesg
Section: (none)
Explanation
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Explanation/Reference:

QUESTION 230
What file contains kernel level logging information such as output from a network driver module when it is loaded? (Please enter only a single command and do not
enter duplicate answers in this field.)

Correct Answer: Answer: /var/log/kern.log,/var/log/messages,kern.log,messages
Section: (none)
Explanation

Explanation/Reference:

QUESTION 231
What file in the /proc filesystem lists parameters passed from the bootloader to the kernel? (Please enter only a single command and do not enter duplicate
answers in this field.)

Correct Answer: Answer: /proc/cmdline,cmdline
Section: (none)
Explanation

Explanation/Reference:

QUESTION 232
What command is used to display a file in octal format? (Please enter only a single command and do not enter duplicate answers in this field.)
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Correct Answer: Answer: /usr/bin/hexdump,/usr/bin/od,hexdump,od
Section: (none)
Explanation

Explanation/Reference:
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QUESTION 233
What option, when passed to the yum command, will update the entire system? (Specify ONLY the option name with no additional parameters).

Correct Answer: Answer: update
Section: (none)
Explanation

Explanation/Reference:

QUESTION 234
What is the name of the main configuration file for GRUB? (Please specify the file name with no path information).

Correct Answer: Answer: grub.cfg,grub.conf,menu.lst
Section: (none)
Explanation

Explanation/Reference:

QUESTION 235
An administrator has issued the following command: grub-install --root-directory=/custom-grub /dev/sda In which directory will the new menu.lst file be found?
(Provide the full directory path only without the filename).

Correct Answer: Answer: /custom-grub/boot/grub,/custom-grub/boot/grub/
Section: (none)
Explanation

Explanation/Reference:
modified answer
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